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End behavior : Asx = -eo,y =2

Graphs are read from left to right (like a book):

H) Interval of Increase: this is where the graph is headed uphill;

For a smiling quadratic graph, this will be the right side of the u: (h value, =)

For a frowning quadratic graph, this will be the left side of the u: ( - e, h value)

I) Interval of Decreasing: this is where the graph is headed downhill;

For a smiling quadratic graph, this will be the left side of the u: ( - <=, h value)

for a frowning quadratic graph, this will be the right side of the u: (h value, =)

flx)=2(x — 1)?

h= k=

Opens: up or down

v
Vertex: —t— 0 ——r
£e . 5 8 " —
Max or Min: i - ;
. L 3 —
Axis of symmetry: %
3 =
X-Intercept: . ul BRE
; 1 1 =t -J
Y —Intercept: SP-BTITSRSTAY BRI m% :
L : ¢ X
Rate of Change fromx = | tox = 5 = il
-3 _f
. - ]
Domain: $ u
= i
-6 '—L—~ j
Range: = .
] —f— H
5

X > oo,y >

Interval of Increase:

Interval of Decrease:




Example2: J(®) = -(x+ 1" +4

a:—_ h: k:——

Opens: up or down

Vertex:

Max or Min:

Axis of symmetry:

X-Intercept:

Y — Intercept:

Rate of Change from x = Jtox = &

Domain:

Range:

End behavior: Asx 5 - oo,y >
X oo,y

Interval of Increase:

Interval of Decrease:

Example 3: y=(x — 4)*

a=__ h= k =

Opens: up or down

Vertex:

Max or Min:

Axis of symmetry:
X-Intercept:

Y — Intercept:

Rate of Change from x=5 tox =

Domain:

Range:

End behavior : Asx > -,y =
X N
Interval of Increase:

Interval of Decrease:

|
1

af

=

NERMAEY

£
1=

H 1
R I R

)

il

s
&

| bl w4 il vl ] 2l

[

Sl wil ot Od B Gl ] =

&




